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SOLUTIONS OF TRIANGLES

Illustration

1. In a right triangle ABC, right angled at C, if a =

7 cm and b =  cm, then =7√3 ∠A

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_C0dbOgmO9EDG


A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

30∘

60∘

45∘

2. In a , if , then =

A. 

ΔABC B = 90∘ tan2.
A

2

a − b

a + b

https://dl.doubtnut.com/l/_C0dbOgmO9EDG
https://dl.doubtnut.com/l/_tiF2j5HjDXSL


B. 

C. 

D. 

Answer: B

Watch Video Solution

b − c

b + c

c − a

c + a

b + c

b − c

3. If  in

, then a =

A. 

A = 30∘ , c = 7√3 and C = 90∘

ΔABC

7√3

https://dl.doubtnut.com/l/_tiF2j5HjDXSL
https://dl.doubtnut.com/l/_EpvYnLcWIo4P


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

7√3/2

7/2

4. If two sides and included angle of a triangle

are respectively  and , then

the third sides is

A. 

3 + √3, 3 − √3 60∘

2√2

https://dl.doubtnut.com/l/_EpvYnLcWIo4P
https://dl.doubtnut.com/l/_CzQ3cvZH0bRJ


B. 

C. 

D. none of these

Answer: C

Watch Video Solution

4√2

3√2

5. If the angles of a triangle are 
and

the included side is 
 then the area

of the triangle is______.

A. 

300and450

(√3 + 1)cm

cm2√3 − 1

2

https://dl.doubtnut.com/l/_CzQ3cvZH0bRJ
https://dl.doubtnut.com/l/_luY81qrnIqSI


B. 

C. 

D. none of these

Answer: B

Watch Video Solution

cm2√3 + 1

2

(√3 − 1)cm2

6. If 
 then find the

number of triangles that can be constructed.

A. 0

b = 3, c = 4, andB = ,
π

3

https://dl.doubtnut.com/l/_luY81qrnIqSI
https://dl.doubtnut.com/l/_klV7d7pHxB73


B. 1

C. 2

D. Infinite

Answer: A

Watch Video Solution

7. If a  A are given and  are

two values of the third sides b such that

 Then, sin A is equal to

ΔABC, a, b, b1, b2

b2 = 2b1.

https://dl.doubtnut.com/l/_klV7d7pHxB73
https://dl.doubtnut.com/l/_YjkGkJ9YFokp


Section I Solved Mcqs

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

√
9a2 − c2

8a2

√
9a2 − c2

8c2

√
9a2 + c2

8a2

https://dl.doubtnut.com/l/_YjkGkJ9YFokp


1. In a  if the length of the sides are 

 and , then the measures of the

angles are

A. 

B. 

C. 

D. none of these

Answer: A

Watch Video Solution

ΔABC

√2, √6 √8

30∘ , 60∘ , 90∘

45∘ , 75∘ , 60∘

45∘ , 30∘ , 105∘

https://dl.doubtnut.com/l/_siujnC2OgS54
https://dl.doubtnut.com/l/_5pMicOqjv9A0


2. In a , if a 100, c = 100  and ,

then B equals to

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

ΔABC √2 A = 30∘

45∘ or 135∘

105∘ or 15∘

60∘ or 120∘

https://dl.doubtnut.com/l/_5pMicOqjv9A0


3. In a , if  and , then 

A. b

B. 2b

C. 3b

D. none of these

Answer: B

Watch Video Solution

ΔABC A = 45∘ B = 75∘

a + √2c =

https://dl.doubtnut.com/l/_1L18TYKRUqbV


4. In a , if a = 40,  and 

, then the triangle is

A. isosceles

B. equilateral

C. right angled

D. none of these

Answer: A

Watch Video Solution

ΔABC c = 40√3 B = 30∘

https://dl.doubtnut.com/l/_N3mLh2zDnCOP


5. If , then 

A. 3

B. 2

C. 4

D. none of these

Answer: B

Watch Video Solution

a = √3 + 1, B = 30∘ , C = 45∘ c =

https://dl.doubtnut.com/l/_2uQgvztlW7PW


6. In a , if a = 4, b = 3 and ,

then c is a root of the equation

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC ∠A = 60∘

c2 − 3c − 7 = 0

c2 + 3c + 7 = 0

c2 − 3c + 7 = 0

c2 + 3c − 7 = 0

https://dl.doubtnut.com/l/_LibNHCvu4ngV


7. In a triangle, the lengths of the two larger

sides are 10 and 9,
 respectively. If the angles are

in A.P, then the length of the third side
 can be

(a) 
(b) 
(c)
 
(d) 

A. 

B. 

C. 5

D. none of these

Answer: A

Watch Video Solution

5 − √6 3√3 5 5 + √6

5 ± √6

3√3

https://dl.doubtnut.com/l/_PurqrgCuk4zc


8. In a , if 

, then

the value of  is

A. 

B. 

C. 1

D. none of these

Answer: C

Watch Video Solution

ΔABC

b = √3 + 1, c = √3 − 1 and A = 60∘

tan.
B − C

2

−1

1/2

https://dl.doubtnut.com/l/_PurqrgCuk4zc
https://dl.doubtnut.com/l/_eRa61IfMZf80


9. Let the angles 
of triangle 
be

in 
and let 
be 
. Find angle 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

A, BandC ABC

A
.

P . b : c √3: √2 A.

75∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_eRa61IfMZf80
https://dl.doubtnut.com/l/_13wfJyHV7Gcs
https://dl.doubtnut.com/l/_80DUTKpKrcE9


10. In a , if  and 

, then a=

A. 

B. 2

C. 

D. 

Answer: A

Watch Video Solution

ΔABC A = 120∘ , b = 2

C = 30∘

2√3

√3

2

1

2

https://dl.doubtnut.com/l/_80DUTKpKrcE9


11. In a , if ,  and 

, then a =

A. 

B. 3

C. 

D. 2

Answer: B

Watch Video Solution

ΔABC A = 30∘ C = 105∘

b = 3√2

√2

3√2

https://dl.doubtnut.com/l/_InVhAn6stYjv


12. If , then 

A. 2

B. 3

C. 4

D. none of these

Answer: A

Watch Video Solution

a = √3 + 1, B = 30∘ , C = 45∘

c =

https://dl.doubtnut.com/l/_Gj1kxYGHm7ke


13. In a , if a = 3,  and ,

then A=

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ΔABC b = 2√3 c = √3

30∘

45∘

60∘

75∘

https://dl.doubtnut.com/l/_ZYMNKR6HSWlb


14. In a , if a = 5,  and ,

then b=

A. 

B. 6

C. 

D. 

Answer: D

Watch Video Solution

ΔABC B = 45∘ c = 2√2

√3

2√13

√13

https://dl.doubtnut.com/l/_dOe4AsXfIyUK


15. In  then

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ΔABC, If + = 0
b

c2 − a2

a

c2 − b2

π

2

π

4

2π

3

π

3

https://dl.doubtnut.com/l/_ynjC8pmGhIfg


16. In the ambiguous case, if  are

given and  are the two values of the third 

 is equal to

A. 4

B. 

C. 

D. 

Answer: B

Watch Video Solution

a, b and A

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

4a2

4b2

4c2

https://dl.doubtnut.com/l/_CFmGKqNFNe4t


Exercise

1. If 
 then find the

number of triangles that can be constructed.

A. Infinite

B. two

C. one

D. nil

Answer: D

Watch Video Solution

b = 3, c = 4, andB = ,
π

3

https://dl.doubtnut.com/l/_c4WfZUVK3y7C


2. If the data given to construct a triangle ABC

are a = 5, b= 7, sin , then it is possible

to construct

A. only one triangle

B. two triangles

C. infinitely many triangles

D. no triangles

Answer: D

Watch Video Solution

A = 3/4

https://dl.doubtnut.com/l/_c4WfZUVK3y7C
https://dl.doubtnut.com/l/_VRZeyBpcKZz6


3. We are given b, c and sin B such that B is

acute and  sin B. Then,

A. no triangle is possible

B. one triangle is possible

C. two triangles are possible

D. a right-angled triangle is possible

Answer: A

Watch Video Solution

b < c

https://dl.doubtnut.com/l/_VRZeyBpcKZz6
https://dl.doubtnut.com/l/_SXqfNO0d6dxH
https://dl.doubtnut.com/l/_btNzUetEurc5


4. In a


 ,

then 
 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

ABC, if = 2, ∠B = 600and∠C = 750

b = √3 √6 √9 1 + √2

√3

√6

√9

1 + √2

https://dl.doubtnut.com/l/_btNzUetEurc5
https://dl.doubtnut.com/l/_bOVshPDCcLdA


5. In

, then 

A. 

B. 

C. 

D. 1

Answer: C

Watch Video Solution

ΔABC, if A = 30∘ , b = 8, a = 6, B = sin− 1 x

x =

1/2

1/3

2/3

https://dl.doubtnut.com/l/_bOVshPDCcLdA
https://dl.doubtnut.com/l/_nocUI72uRzKx


6. If , then C=

A. 

B. 

C. 

D. none of these

Answer: D

Watch Video Solution

a = 2, b = 3, c = 5  in ΔABC

π

6

π

3

π

2

https://dl.doubtnut.com/l/_nocUI72uRzKx


7. In , 


if the sides are  cm, prove that

the smallest angle is .

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC

7, 4√3 and √13

30∘

15∘

45∘

30∘

https://dl.doubtnut.com/l/_oyYFFUKjyvyf
https://dl.doubtnut.com/l/_0Vm9kO6zrheh


8. In a , if c = 2, , then

C=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC A = 120∘ , a = √6

30∘

60∘

45∘

https://dl.doubtnut.com/l/_0Vm9kO6zrheh


9. If 
 in 
 then

find the number of triangles that can be

constructed.

A. one solution

B. two solutions

C. no solutions

D. none of these

Answer: B

Watch Video Solution

A = 300, a = 7, andb = 8 ABC,

https://dl.doubtnut.com/l/_MVovO2CZFbQp
https://dl.doubtnut.com/l/_y2qfqLPOVtE6


10. If a , then a

=

A. 

B. 

C. 

D. none of these

Answer: C

Watch Video Solution

ΔABC, b = 2, C = 60∘ , c = √6

√3 − 1

√3

√3 + 1

https://dl.doubtnut.com/l/_y2qfqLPOVtE6


11. In  let 

 then

which of the following statement (s) is (are)

correct ? 

[Note All symbols used have usuall meaning in a

triangle]

A. 6

B. 7

C. 9

D. none of these

ΔABC,

a = 5, b = 4 and cos(A − B = ),
31

32

https://dl.doubtnut.com/l/_SfxaUPwIIvED


Answer: A

Watch Video Solution

12. In a  If 

 then  is

A. 

B. 

C. 

D. none of these

ΔABC,

A = 30∘ , b = 2, c = √3 + 1,
C − B

2

15∘

30∘

45∘

https://dl.doubtnut.com/l/_SfxaUPwIIvED
https://dl.doubtnut.com/l/_eudUAwNCW9aA


Answer: B

Watch Video Solution

13. In a  if a = 2, ,

then cos A=

A. 

B. 

C. 

D. none of these

ΔABC b = √6, c = √3 + 1

30∘

45∘

60∘

https://dl.doubtnut.com/l/_eudUAwNCW9aA
https://dl.doubtnut.com/l/_kuWcJpkrfK9e


Answer: B

Watch Video Solution

14. In a , if , , a=2, then

B=

A. 

B. 

C. 

D. none of these

ΔABC A = 45∘ b = √6

30∘ or 150∘

60∘ or 120∘

45∘ or 135∘

https://dl.doubtnut.com/l/_kuWcJpkrfK9e
https://dl.doubtnut.com/l/_cxBmqTVSTYVR


Answer: B

Watch Video Solution

15. In a triangle, the lengths of the two larger

sides are 10 and 9,
 respectively. If the angles are

in A.P, then the length of the third side
 can be

(a) 
(b) 
(c)
 
(d) 

A. 

B. 0.7

C. 

5 − √6 3√3 5 5 + √6

5 ± √6

√5 + 6

https://dl.doubtnut.com/l/_cxBmqTVSTYVR
https://dl.doubtnut.com/l/_ba4i3E9SWZyq


D. none of these

Answer: A

Watch Video Solution

16. The sides of a triangle are 

and  units, where . The

triangle is

A. right angled

B. equilateral

C. obtuse angled

3x + 4y, 4x + 3y

5x + 5y x > 0, y > 0

https://dl.doubtnut.com/l/_ba4i3E9SWZyq
https://dl.doubtnut.com/l/_sRmBwlrB9yAx


D. none of these

Answer: C

Watch Video Solution

17. In a  are given and  are

two values of the third side c. The sum of the

areas two triangles with sides a,b,

 is

A. 

B. 

ΔABC, a, b, A c1, c2

c1 and a, b, c2

(1/2)b2 sin 2A

(1/2)a2 sin 2A

https://dl.doubtnut.com/l/_sRmBwlrB9yAx
https://dl.doubtnut.com/l/_B16Y0bqtnIuP


C. 

D. none of these

Answer: A

Watch Video Solution

b2 sin 2A

18. In the ambiguous case, if a, b and A are given

and  are the two values of the third side,

then  is equal to

A. 

B. 

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

2√a2 − b2

√a2 − b2 sin2 A

https://dl.doubtnut.com/l/_B16Y0bqtnIuP
https://dl.doubtnut.com/l/_mcZNA7AUIzJZ


C. 

D. 

Answer: C

Watch Video Solution

2√a2 − b2 sin2 A

√a2 − b2

19. In the ambiguous case, if a, b and A are given

and  are the two values of the third side,

then  is equal to

A. 

B. 

c1, c2

(c1 − c2)2 + (c1 + c2)2 tan2 A

4a2 cos2 A

4a2 cosA

https://dl.doubtnut.com/l/_mcZNA7AUIzJZ
https://dl.doubtnut.com/l/_TCfiJcM0HWZI


C. 

D. none of these

Answer: A

Watch Video Solution

4a cos2 A

20. The smallest angle of the triangle whose

sides are ,  is

A. 

B. 

6 + √12 √48, √24

π/3

π/4

https://dl.doubtnut.com/l/_TCfiJcM0HWZI
https://dl.doubtnut.com/l/_5qywkYRAD084


C. 

D. none of these

Answer: C

Watch Video Solution

π/6

https://dl.doubtnut.com/l/_5qywkYRAD084

